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| Match the picture with the answer.

7| BE | 2 3

7. Write the radicals.
| father | movement

sheep

enclosure "~ | two people ] towel

rain

heat | long knife
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& Group the characters and write the meaning of each character.

thunder

1. A% JLA JL39 4 S RREFHARS T A

2. SR EHILY 5. AR FAKLE S JEY




Fo 000000000000 000000R000CR0RRRR0000RR0C0Q0BG 0

Rearrange the words / phrases to form a sentence.

10/ ER/BE/ R/ RE/ M >

2. XMy /M Wy AR K/ T e, —>

3. ¥/ kIR /L, BABH K, —

4, —F/FHZH/ K/ OIAE, —

5. RA/ITH/ AR/ &IF/ 05, —>

6. AR/ SR/ TE/ B, —>

Add a character to form a phrase.

1. Fo 2,97 3.5 4, & 5. e

6. f& 7.4 8. & 9. % 10, Z

BB OOVOOVCO0RCROTRROBLELIDDRCRC0DHEBO0 R0 e

§ Write one sentence about each picture.




Complete the sentences.
1- /"}\iﬁg‘g\} /’\’ 9 %ﬁ %&

a) & # need

by M. % should
3. /-;‘/{/fgﬁf’ e, o) & want; need;

must; will

4 FFAF BT d) A~ §& cannot

5. 4 X TF Ky, #| KK,

6. bR EMTH T,

o C‘ H OO0 e D888 00e00eHeeeRsBa

BFEAK ﬁ\g P 1w




|l Reading comprehension.

FEORA.
AARMBE %, —FA
JINEFH) ARHBEAE
2K9 ABE IV EI IhE
FA AR B R HH?
X AmA VAT B
R, TARB? REXXR
IFAIF? PR XZKRY
BT mARR RS T AT

R ARXXRAR L, &
A, mRARE__

1REBFH LA RIR?
T AAEBF
HHEREE, SART
-~ bl .
MA: I n£“wm%
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Find the parts in the gnd to complete the sentences.

” ay g 1. A XA R,

(it is sunny in Xi'an today)

2. X FAKE XS =,

}_‘..

S
R
Al N

B | R
RO IS
P

(there Wil b8

e

O

thunderstorm in the evening)

3. HBEAS KL, .

(it will be foggy tomorrow)

4. =W R

(it is cloudy in Shanghal today)

T

74 7y
iF Iz

(it does not often rain)

o]
(it will likely be raining tomorrow morning)
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Match the picture with the answer.

PR GG D 50 8B DR De e Q;-"' a8 ea e edaseaada
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Fill in the blanks with the words in the box.

..................................................................................

5. FAR Tk E,
- 6.2K/  IREEZKE,
3.hk _ WREFSE, TARMNE _ EFRFRY
44 FMB R LA 8.4 _ EAWRFF. 7

Answer the questions in Chinese.

do RIRA R - L, & - eRERARELE, &
w27 T 47

REH

112

IR REBELT, & 34 WREEBELT, &
WAt 249 | B 209
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Complete the sentences.

1. B A RAR A, P v 80008 0 ik

2. B) g dodT ARG A T

3. B 4 AAMEIRIL L — e L E A&,

4. B A BA K KA, TR,

5. B} 9 AR R BA MEIR,

1ECO0D0OLBCDHLYORDOOYROEEREBLRDOREEDE GO

Circle the phrases and write them down with their meanings.

B -
% F @ R R

% @z 4 g O e
g%m F| AT WA (i (o
BoAlF o &
| T B

=
%

CO9OBHECOTD0OTR0LDVOLLLLER0RO0O0DLOLOEDEOO

' Write a phrase starting with the last character of the previous one.

LR —> s 25K — 3. frim —>
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. Complete the dialogues.

T @
B RE—UCR | s, AR hE
—i & AL, % 7 EILAUR.

R AR EB— | pgr Lereiie
e, o, |

Ei: RAXREE | LT, BB, KA,
EFT. &L ERAT
RIF AR, 1248

JNBR

TODOCOCODODLOOGDRODOIDRROLRLEOOCTLIODIOROOOGS
Complete the sentences.

T £ Tm, N3 |1 AAXBEETH,
FATHHET,

2 yo FARA R AP, O 7T UL,

SE N ARG ARTRA, | O AREMAE,
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/ 2 Search for the information on the internet aﬂd fill in the blanks
with Chinese characters.

1. The continent in which China is located:

2. The number of countries which shafe the borders with China:

i Toein o S An 3 o S g A dn S AR R N R NN
L] B8 e 00D eHe0DEeEn s e

Type the followmg passage on the computer.
FERODF

IRIF !

RAT Z AR ? R BRI RAT, 2F$ T4, £
. BT, TRAFHE, PREALRLT, RFHEE, LR
s, TEFET, BPfFE, BHILTLRMEL,

PLIT |

:\]\75"{'
3A108

s oAn & &
(RN

: ) K Answer the guestions:
R A =4
K, BNEEMEITH. £
PR T, UmAa252|324,
T oA RBHNER20E, RAEBRT R LEBH S VAL
XETLSRKAR, {2255,
L, NAFFERHEA, TX
Mo RAKERBME LS 5 juf) @ 7H A £ 59
XA, AARERLAR, &
sk FEE 6.4 A+ 24 B3R A KT
AT | g tnsks:
1’7"]]5;: ,\}\rg’ Write a dialogue between your friend

and vyourself about the weather. You
SH 8 H should make at least 6 turns.

2. WAl 5 K AR F AT 4 RIR?

4. FF0 0, AN RUEAR?






